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R.c. 029

DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the

Departmental Test in the Manua! of
Firemanship for Officers of Tamil Nadu Fire

Test: and Rescue Services - First Paper 053
(Without Books)
Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QM@ uena NS e

Read the following instructions carefully before beginning to answer the
questions.

alemésEnéd ellenL wWeféas OsTLREGL Weiry SD&eaUL. SIMyMISHENeNS
SEUTIOMSEL Lilg.&&56LD.

1.

This computer based Test contains 100 number of questions in objective
Type.

Q5ss seiean aulfiy Caieumsus, 100 Qamn@Ml cuamsuNeorar aNeTésanens
QameaL_g).

. Answer all questions. Each question carries one mark

SimEdg ANameEHEr&@L el Wwellésaylb PN aNeTTeyld e
LOFINICALIGTT ©_mL WIS,

In case of doubt, English version is the Final.

allembsefey  #HCHHL @ Teir SHES0  augefled  QHMGESIUL Geer
efleoné&Ceor GmiLimen g,

Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

@5g elemasaicd @b Qumieten gy etm uneSlsord geulledt eumysengseafed
Camerilger, &HLONGCHMHL  Quedn uredlsnssauflell  eUMTS S HEmLD
SILRIGLD.

. Before answering the questions in CBT, candidates should read the following

instructions displayed in the monitor:

NeETLILGNTTTSHET  Sewieuf) QIfls CoielD® oloLwolsss QsTLRIGH
e safaliulldr  Hepguicd CHIATMID  SINYDOTHMET  HEUSTLONSL
Uig 556 LD.

a) One question will be displayed on the screen at a time.

26 Chrssled @ allarm ol GG seilefly Henyuilsd Canmemith.



How many times breathing movements done by human body per minute?
e BBl gdld waflgiser asgamer ¢penp SeurdlOLTTEET ?

(A) 16 to 20 times
16 (Ip&ed 20 euany

(B) 19 to 22 times
9 (IpFL 22 @uenT

15 to 18 times
15 apged 18 aueniy

(D) 17 to 18 times
17 (pged 18 auenl

Describe respiratory cycle air after exhaled.
sounsgdlen (pissarny QeuelGCublder o erer elldlgrésmyh

(A) Nitrogen — 79, Oxygen — 21, Carbon dioxide — 0
enpLymsper, 79 Wymawreuruy 21, sflwfler eury — O
Nitrogen — 79, Oxygen — 17, Carbon dioxide — 4
erpLgmeer, 79 Wrmemreuryy 17, sflwulie eumuy — 4

(C) Nitrogen — 21, Oxygen — 79, Carbon dioxide — 0
eopilgmmen, 21 Wyramairy 79, sflwdble eumyy - 0

(D) Nitrogen —21, Oxygen — 0, Carbon dioxide — 79
anpLymeer, 21 Wymesreuru] 0, sflwidled eumy — 79

Which type of pressure is turned on automatically when the user takes his first
breath in the mask?

wssssmele (pessssHd Pesd ApEs BPSELELITS ahS SUTET Bi(PSSD
eThupits?

M Positive pressure (B) Negative pressure
Criweap Sipssd adlioemp (PSS
(C) Normal pressure (D) Both (A) and (B)
FIETTT D(WPSHLD (A) wpmid (B)
If the BA Set cylinder pressure goes low then % the cylinder should be
replaced

apessmelllian Adlanii srhiler Si(PSsDd eTeucLaTa| @Genauns @hEGn Qumpg ySw
Hedlawrir wrhp Ceusar(Hib 2

(A)  70% MO%

©  50% D) 90%

3 0£)lDDlZ4
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5. Expansion of LPWW
LPWW @len eflfleunésn eremen?

(A) Low Pressure Whistle Warning \M Low Pressure Warning Whistle

Conrdrst eflfler eumidlm Carlrsr eurifln efdle
(C) Little Pressure Warning Whistle (D) Long Pressure Warning Whistle
el ged Qe euridln aldle eomm s eumihle ef8le
6. The personal line allows member of ABA team to attach themselves to each other or

to guide line using, how much length of line?
epdassmell G @(HeU(HEE @aul Qaarsgs Garan( el bLsd CFdal LwaTU@D
Qe Cursaresd eneenr LwaTLRE D). igafier Guide line-er Ferd ereueueray?

(A) 185m (B) 1.65m
1.85 B 1.65 8L
(C) 1.35m N 125 m
1.35 B 1.25 B
7. One of the following factor is a part of Triangle

Spssameupper erfigadlen (paGaranmsgLen QamiryenLwg erg) ?

M Oxygen. (B) Hydrogen

<, &&lseir an@un L enen
(C) Nitrogen D) CO:

OBLTEDEN STTLeTen L &aman(h

8. Formula of pump efficiency?
ubllen Fpeners samsdHib @S Td ereirer?
(A) % = Efficiency M Efficiency= %/g
.. WPx100 .. BP x100

(C)  Efficiency = P (D) Efficiency = P

029/DD/24 4



10.

11.

12.

13.

Calculation of friction loss formula is?
2 prelarmed eHuEb Giplienu serslEn @edn eremer ?

_ Dg _2flu2
@ Hf =K M;f__Dg

__ _Dg
© H =5 ® Hf =2

How many types positive displacement pump are available?
agganar cuangwiner Guirwenm @Luibuwbhd LibLser 2 dreren

& 3 &

(C) 5 Dy 2

The Spinning part of the centrifugal pump is
cflflerwtiGurs@enus LbiQer spabd uGH g ?

(A) Casing Impeller
Cadlm @ buert

(C) The Volute (D) Ol Seal
& quredypl <l Feo

What is the SI uint of density?
SLrgSuler SI e, ereiren?

Kilogram per cubic meter (kg/m3) (B) Meter per kilogram (m/kg)

£.8/)8° BeLir/fCerdgmb (m/kg)
(C) Gram per cubic meter (g/m3) (D) None of these
&ymd JE 96 S (g/m3) @eupidler ergiaLlldane

What is the vapour density of air as compared with Hydrogen?
aml Temer eumueneull Qurmss sTHlled el LTsd eremar?
(A) 8.5 B) 8

14.4 (D) 35.5

5 029/DD/24
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14.

15.

16.

17.

18.

1 calorie = joules?
e sCrhiéE assmear Cgrde FoammEb ?

4.18 joules (B) 5 joules

4.18 Gggmerav 5 Gegreben
(C) 5.06 joules (D) 6 joules

5.06 Gmmevev 6 Gggreven

The quantity of heat required to convert unit mass of the substance from the solid to

liquid state without change its temperature is called?
SLnQumener Sigen Gauliub Gepwuroed Freuwns orpn GaeeuiLi@ib Geuliuib?

(A) Latent heat of diffusion (B) Latent heat
Carl el @bl L1 QlIuLge Carl_L el @bi
Latent heat of fusion (D) Vaporisation
Carl L e @bl <t Li&em CautiuenyGegen

What is the other name of Boyle’s law?
umulléve efFufer wHGOMTH QU ereie ?

(A) The solid law (B) The liquid law
smedl eilg Sla@eil e
The gas law (D) The vapour’s law
Gaev el Geuusrr cfilg

Which of the following is not method of transmission of heat?
Geuphle Geuiusans SI-EETS (PdD 6TF) ?

\MVaporisation (B) Conduction
<gpeilwimgen Gauliu sLs6

(C) Convection (D) Radiation
Qeuli sarid Qeuliv sflrelFs:

In which method transmission of heat is carried through the actual movement of

molecules?
Beuped b pepuled pp@&amnser baraugen epod Cauliub sLSILGE g ?

(A) Conduction Convection
Qeutin &L Geuliu Faesib

(C) Radiation (D) Vaporisation
Qeulin sdlielés < eRITSHeD

029/DD/24 6



19.

20.

21.

22.

When two or more atoms of different element are chemically bound together to form

molecules then it is called?

@Qreamgh@En GCuopul L seflwhsellar amssdar @retwangdlen apob gadamass

epesFamser erhu@eidlenr Guwi ererer?

(A) Mixture (B) Substance
LSl e aiT FLIGLetre
(C) Radicals W Compound
Grgaseen SMbLIGY 6T (R

What is the chemical name of NaClO3?
NaClO3 Ger Geuduilwed Qi erebma ?

Sodium Chlorate {B) Sodium di chlorite

Camgwid GerGrlrL Gamguid en GGermany
(C) Sodium tri chlorite (D) Sodium per chlorite

Gamguwib qerr GGarrr Cemgwid Quir GGerrGrL

What is calorific value of heat?

Qeutiugden &Geoorfibs wlliy erémer?

(A) 32810 (B) 3824
32813 (D) 3820

Which of the following are the properties of metal?
SpsanL sppseiled 2 Consnseaflar L sar QaraT_ae eranau?

(1) All metal are solid except mercury
unsresms $6ly smarsg 2 Garsnsend LG mmer

(ii) They can from alloys
2_(Carss SOMEISEMET 2 (HeUTEHS (Lply b

(ii1) They are good conductor of heat and electricity

@enar Hphs Qeuliubd wHEID WersTrbd &L
(4) (@) and (1) @( (1), A1), (ii1),(iv)
(C) (i), (v) (D) @i, (1), Gv)

029/DD/24
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23.

24.

25.

Starvation is ?
i gefll Gurhieugen QuUT(heT eremarn?

(A) Limitation of oxygen (B) Limitation of temperature
Wyremeumyenel s RUUG SIS Geuliugeng Ge@mUILG

( Limitation of fuel (D) Cooling of fuel
erREunmener & RUUOSSH U erfl@ummener @artlmellULg

Degree of sub—division of building compartmentation depends on
R syl S sburm QuarGLsear aangls GuTnISSS ?
(1) The use of the building
&Ll L gdler LwiesLm()
(ii)  The height of the building
&Ll SHleim 2 wiTib
(iii) The availability of a sprinkler system
geqrent T Qgeflelliumersafler @ muiy

(A) (1) only (B) (1) only
(i) vl G (ii) e @Gid
© @) (i) only GG, G, Gii)
(1) (1) b (1), (1), (u1)

A lift designed to have additional protection with controls that enable it to be used

under control of the fire fighters i1s known as?
Eweren i Guniseilen s GUurigd Qurigb fs urgsriy o arer Wlagrésl 6g ?

(A) TFire fighting shaft & Tire fighting lift
SwenerTliL &IMISD Swienemrii] Wlegrsdl

(C) Protected lift (D) Master lift
ungismiy Wlegnée TEvLIT Oleg sl

029/DD/24 8



26.

217.

28.

The advantages of using aluminium alloy is building is ?
sl gL migeatd oglleflub e Bdgieudlen peenn eTee ?
(L Reduction in the weight of the structure

(GHODEUTET Tl 2 ararg
(1) Resistance to corrosion

H(H 145D st Sepwirg
(111) Height strength to weight ratio

aeni cillgrargsdledr oidle o mfuyen g

(A) (1) only (B) (11) only
(1) b b (i1) @b
@), (1), (111) (D) (i) and (iii)
(@), (1), (111) (ii) womb (i)
Glass is a?
SERTERTTlY &(Th
( Non—Combustible material (B) Combustible material
erafidled erfluing Qummer erafidléd erfluidgniquws Qummer
(C) Conductor (D) Hard material
WleaL_ g5 weprer Glummer

Which of the following is not the fire tests of elements of construction?
@eupdler ez sL_Hiorer smpsaflanr § ufCersamanuiics Carrgg 2

(A) Integrity (B) Insulation
(P(pemD STy
(C) Stability iMesign
Blybgnd GulgeuLD
9 029/DD/24
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29. When plastics and rubber are overheated then what problems are faced by fire
fighters?
Germevig.d whmd rur § elusgiseid SumeartGurisdr shHa@n seurd ereme?

(1)
(i1)
(iii)
(v)
(

()

The evolution of toxic and corrosive gas

BEGQUT, SNf&@Gh SenepdueTer aumyy @bl (mLiLg
The evolution of large quantity of something
SiFlewrs s CeualCumeug

Eyes Irritation
& eTilFFed

Over Heats

258 Qeuliuib

(i) and (11) (B) (i) and (iv)

() wppi> (i) () wppid (iv)
(iii) and (iv) (D) (i1) and (iii)
(111) wpgd (@v) (1) whmb (1ii)

30. Imposed load means
SlenflEal1LL L SanD eTenmred 6Teimes ?

(A)
(B)

D)

The weight of all parts of the building
syl Sdlem semandg LGHuler o areT cTant.
All loads due to the effects of the wind pressure
THfler BiPSESSTH THURD FEDLD
Consists of the people, furniture, machinery and materials expected to be in
the building when it 1s occupied
&l e QEpuugns eafrumfssiufid WE&ESET, WwrFsrorasedr, @uibdlrhiser,
QummL&eT @eumdlen &eno
Weight of the columns and external walls
Fnaset wHmb GeusflFmeurseafisn eTanL

31. Which one 1s not correct regarding soft suction?
Qo B 2 Mess GRTusEE CQurEbsTs udled ererar?

M Soft suction 1s made of heavy duty transparent PVC

(B)
©

(D)

029/DD/24

Quadu i 2 Mgrs G, sarwrar gafl cafneadan “PVC” gurfssiu@épg
Ordinary delivery hose used between a pressure supply and the pump

Yrer suiemend@d LbLEDHE@L Qe uder Lweruhsgsdeny srgrrer Bir chf @pmu
It is usually fed into a collecting head

SO&Igm Hanl g hEer uweruRSs0URE D)

Some times special short lengths to use as soft suction

flo sowmssiie Aptiy Gndwu Sergpdrer @miuser Quadlu Bi 2 Nére Gmuns
vwetuRssLuBiE Dg
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39

33.

34.

35.

When the hose pressurized it will not?
Bir 9B Gnuied fs sipssh darRéEEn Gung, ererar elleere ghuLTF ?

(A) Increase in length to some extent M{tent velocity of water reduce

Fhp Ferb Bifsnrgid Bilem Ceuasd @enmuib
(C) Increase in diameter of hose (D) Cause hose to twist same extent
Gwruller shperey HiHEDMELD @wrulles Hmuukiser ghu@n

is designed to resist external pressure and is used exclusively between
water supply and the Pump

Srrgmpsdled  @@nm ubdnE  Geefliyp SWSsSD  STESTLOD

LwetuGssLuhEng 2

(A) Hose reel Hose (%uction hose
Ganmev oo Capmev B 2 Hleps @pmo

(C) Percolating hose (D) Rubber lined hose
QuirQarGepn Gapmen TUUT eneven(® &Lpemi

Which one is not correct regarding hermaprodite coupling?
QaniGuryCGrrCLL sulmdlig Cunmhsns smbm ererer?
(A) Used in hose reel hose
anrev Foo Gaprefléer LwaTLRSSLILGS DG
The male half has a sliding sleave
& @evarifuld snsEn LGH BHESD
(C) There are no male and females the coupling

Qran® sudbiEsmetyd aCHTH @ap WSS adiupb Fmuyeuger apad
D eemssiuGEng

(D) They are connected by pressing them together and turning in opposite

directions

<7 HED GLe @eerrlilaer aearn ggib Gdeme
Combustible liquids are liquids which have
erflwdsngu Sreutiser Qaram Syeukiser

A Flashpoint at or above 37.8 degree centigrade

37.8 4 &M Qsemng HACryed sivog BsHE Cod @@ SliaTrey Limulam
(B) A Flashpoint at or below 37.8 degree centigrade

37.8 4N QsagdlGriad oy FHE SC @ slarTey Limdla

(C) A boiling point of over 100 degree centigrade
100 &M QeengHCrHisE Cuod Aasrdbleaa

™ A boiling point of below 100 degree centigrade
100 4 8 Qe flCrR&E Gepairar Qardiflae

11 029/DD/24
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36. In the ladder operation the term “extend to lower” means

gexflarl Qus@h weapule “@néscaushens Blyssed ” e sl Leneruler Gummer
CTGHTENT ?

(A) To raise the extending portion of a ladder

anfludled Brgssunl L ugdamwu 2 wisss
Mo raise the extending portion of a ladder to clear the pawls for lowering
geanfl sn&aETod SEEGL L sCGamaner cllPelluughans garflulild ﬁl'_tq_ei;asl;lul'_l_
UGS o wirgg)
(C) To retract the extending portion of a ladder
gafllile Srigassiur e ugdew Smou Gupy
(D) To erect the ladder against a building
sl gL e Gue genfleow AUTESSe D

37. Air lifting bags usually made in
g ugs Gué 2 (meurds LwenUHiSgIb Gummer

(A) Poly ethylene (B) Packalite
Limed ergdadlan GETeneL_

(C) Moulded plastic Reinforced Neoprene
eyed L Nemmevigd f @enGumren@ HIGwm9 e

38. Which are correctly matched?
@eupdled Fflwrs QUrEEE eus eTene ?

(i) Window PTO — Power take of from the gear box
cHlenGLmayp lur urgedler BmHg UuTGL& Bl ThSeD
(1)  Sandwich PTO — Power take of from the drive shaft to gear box
Fmemell_&ey(1p gengeu apr e (mbg Hur urseldlhs
LeuTGLE oyl TS
(i1i)) Side PTO — Power take of from a transfer box
uss PTO - e ufvrmp Quiiguild Gmbg sédflaw aBisse
a) @), G (B) (i), (i)

€ @, ) T ), Gi), @)

029/DD/24 12



39.

40.

41.

42.

When working on a ladder fireman will need both hands free in these circumstances
he must first take?
gexfiuder Flery Carerlh SwevarniCumisdr Swenantiiy L Gwm@&nmmgm@ @\retr(H

mssaT @eLuym @daroe lhellss Blmbs Gsusmrr@m 3GDE (WPFedled ereram Clauiu
Geuahr(pib 2

(A) ladder lock (B) Hand lock
QLT @& Capert(h ers
Leg Lock (D) Hip Lock
Gesears @Huy s

Which one is correct regarding COz Extinguisher?
@eumled COz Swenamriiumen updlw sAwmer sapo eremat?

(A) Two or more chemical are allowed to react to produce an expellant
@ramgh@nd GCwpul L @rsrwenhsear ofaaryfibg QeueflCupespeE gea
L flBenmg
(B) The pressure is produced by means of compressed liquefied gas released from
a gas cartridge
Gaev Cal Mgl freu Hemeuled 2 arem cumyeund SiPESD 2 L nésluGiEng
(C) The expellant gas 1s stored is stored with the Extinguishing medium
aflGwhw 2 sayb eury Swemems@b GummeErLar GallssliLHdng
The expellant gas is itself the Extinguishing medium
QeualiGwnp 2 gajb eumy|Geu Fanuws sameasdlamg)

Which type of extinguisher has the highest proportion of contents discharge?
ThS CUMBLITEN HeRTEHGD FHedlwrerg o erarlss GeaaiCupnsdear oifls fssms
CarempeTeng ?

\.(ﬂ( FOAM (B) CO:

DCP (D) ABC

Which of the following extinguisher are unsuitable for dealing with fire in electrical
equipment?
Getreu(mLd 6ThS enawrliLimer ileanFTgamksaties Saul enswrateugng sE&HwUDDG ?

(A) Water and CO2 Water and Foam
B oHmibd SrrusT-eL &Eenen B womd ey
(Cy COgzand DCP (D) Foam and COs
COz vpmip DCP meoy wpmib CO:
13 029/DD/24

[Turn over



43. Assertion (A) : When using a aspirating foam extinguisher on a containter fire, the

operator should direct the foam against a vertical surface

aulymssd @ @ Garasaald SLS&Eh RMmTmL SmaTsEl sralau

Lweruhisgin Curg @uiée Qeki@ss GCuhurtilés edlyrs mearenw
Quss GCeuenT(Hib

Reason (R) : This allows the foam to rundown and foam a spreading blanket on

the surface of the burning material

STeETLD : @e  mey  SresgheE,  Goupuridéd  Cumimesew  LILLEISDHEGD

(A)

(B)

2@indlaEh eriummer
{A) correct (R) wrong
(A) &fl (R) seum

(A) Wrong (R) Correct
A) saup (R) &

W (A) and (R) are correct (R) is the correct reason for (A)

D)

(A) oomid (R) @ren@b seum whmith (A) ssnen angenrid (R} @y,@0
(A) and (R) are wrong
(A) wHpmd (R)@yenBio geum

44,  Which extinguisher provides its own pressure for discharge?
eThg sienenTiiumen QeuallCumndling siger Qemhs (PSsH5E UGS Dns)

4)

(©)

Foam (B) Water
miany i
ABC @ CO:
ABC CO;

45.  Which one 1s not correct regarding COz Extingumisher?
COz siamemiiLimer Qgriiruing erg sflwuing Gdeme 2

s{/ The COz 1s retained in a liquid condition under about 7bar pressure

®)

(©
D)

029/DD/24

COz swomr 7 unt Spsss5Hen S @ Hreu Hlawuld 566 aaussiinpdng
The ratio of expansion is approximately 450:1

Cgrrwuwns eilfleuen_geller eflflgd 450 :1

The design of discharge horn is conical

g eI amriafilen enset gnibl| g euLD Tarmg

Conical shape main purpose is reducing the velocity of the gas

aniby auigeugdlen apsHlw Crprésd eumyeiler Coussms GampUUSTEL

14



™

46.

47.

48.

Which one of following is aspirated foam?
Merau(meuemeubiler erg 2 PlighsliLl L Hieny?

(A)

Foam concentrate + Water (B) Foam concentrate + Air

ey Gedla) + B meny Qedlea) + &rom

Foam concentrate + Water + Air (D) Foam solution + Water
meny Qedley + Bir + anhmy meny Qadle) + sewmanti

Which factor will greatly influence the behaviour of the foam when it is applied to a

fire?

Gpmude vweatuBhsg b Curg abs srreanfl Hevguild BLmgerw GUfgb urdsssm @b ?

(i)

(i)

(111)

4)
©)

The proportion of foam concentrate added to the water
mer Gedellar elfgb samatha CardatiulLg

The volume of air mixed with each volume of foam solution
Bl SanpFedlern eeubleun(m Gsm@duLen sops sl eTey
The size of the bubbles

GWlpasafien Biaray

(1), (1) (B) (i), (ii1)

(1), (1) W (1), (1), (111)

Shear stress means
el avigLTen TETLISZEN THSD eTeman ?

A)
{

(€)
D)

Size of bubbles
meny GUIlullelr ieTa]
his 1s the degree of stiffness of the foam
menTuien eflaprliLysereninenit @&H&@n Ggme
This is measured by taking the time for foam ton drain water out
Heny senqeugharar Gryb

The size of the mesh
cueneudlel SieTe]

15 029/DD/24
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49. Inline inductor uses the principle to induce the concentrate into the water
stream
WwFdeflgpl L Ol L ey semeaemwu. T grerurs  Geeflleshe  eremer
spgiusled Glemaneven @em sl GuikiGing ?

(A) Polar G Venturi

Guireomi Qeuenésfl
(C) Archimedes (D) Foam Extension
24, Tl Ew 1.6 Gumb er&ebl_enaem

50. Twill weaving is often used in hose because
B eff @wny surfliugne dswrs weid Qpse| ap LWETLHSSGISE HTIERTD
ST AT 6T ?
) The hose are more pliable and easier to handle
QUMETLSF G WLE LOHMID OELITETaLFDE eTertlgl
(ii) The warp is about twice and strong as the weft regarding bursting
B eurrer Qpseleny. GnISE aurl Lrear Gpseiepaw ol Qramhib wLrkis
Gemd Qaigtiudléd Qmbg UTHSTEESWD
(1i1) Minimal weft exposure
G&m&E aurl Lrer Apsaleyp dfanrs QeaiCu Ggsfurg

A @), () (B) (), (), (1)
€ (), (ui) (Df' (1), (i1)

51. Which one is not the names for rolling and stowing hose is?
Qeupiled Brel® Gwrew &Hlly, SiHsd eeuss LLeTIHESTS Cuwi erg ?

(A) Dutch roll (B) Flaking
L&& Gnmed oG Gerdl

(C) Figur of eight Q" Hammering
Gam Lt et : Ganofin

52.  Suction hose mainly manufactured in following three diameter.
SpearL ahs apan SeTaseld B 2 flghs @wrl Siflsors surfssiuGang.

W~ 75 mm, 100 mm, 140 mm (B) 60 mm, 120 mm, 190 mm
(C) 40 mm, 100 mm, 120 mm (D) 65 mm, 130 mm, 150 mm

029/DD/24 16



53.

54.

55.

56.

The optimum working pressure of hand controlled branches (HCB) are

bar
@&WTET SLRLUUBSSEmgWw S @Gprisefian Gauame CFluIGsmIpL 2 855 DWSSD
GTGITEN ?

(A) 8bar \99’ 7 bar

8 umm 7 Umw
(C) 9Ybar (D) 10 bar
9 umfm 10 umr

Rubber gloves usually used by the fire service which are tested up to

volts
Swenantiiyggienpuies LwWeTLESSULEL FUUT @syer asgsmer CeauraGLg WearsTyssed
Cerdlaasiul_(herarg) ?

(A) 1500V (B) 1600V
&7 15000V (D) 2310V

What is the position for staring mouth to mouth resuscitation?
amrCur® aumi eneusg QFwunens &eumsb als@Gh e Fwbhameare, @pbseumy ThH
Bleveoufler eneuss Geuarm(@id ?

(A) The casualties head should be kept straight to ensure to an open air way
semaan Crrms eneuds Geusit(Hib

The casualties head is tilled back to ensure an open air way
saneaw Ger L&sWLTE FMiss CelarTHib

(C) The casualties head is tilled down to ensure an open air way
s &G smuss Caiagmi

(D) The casualties head is turned right side to ensure an open airway
seneew euwg Upors Smiu Geauam@ib

The spindle of a hydrant is usually made of
B gbQuler sipe arhs o Coonssde gurfsasiiubGépg) ?

(A) Aluminium (B) cat iron or steel
<giflafluid euITTLNA(mLbY idbevg) @) (hibLy
Bronze or gunmetal (D) Copper
Qeuanged Bioag Semblol L6 Qe
17 029/DD/24

[Turn over



57. The device which indicates turn table ladders elevation and shows the maximum
permissible extension at different angle for different loadings
sp@ Gueans gartlenw aindsaiiLii L 2 wrd womh Catarsdd 2 WTEgHemsNHE 2 Gab
seheluiler Gluwiir erea?

(A) Anemometer (B) Spectrometer
e CmSr ev@usl Grmbrm

(C) Hydrometer \W Inclinometers
engm Grmbi T @endlaflCanmbL i

58. When the pump pressure is in 6 bar, then the water flow in 70mm delivery hose is?
6 umm osssHed Bt Cegusgid Cumy 70 OB Birellh @wruled erdueuera) [ir

QeueiGuimyLb ?

(A) 100 litters/minute ( 600 litters/minute
100 &bl /Bl b 600 &SI/l tb

(C) 1000 litters/minute (D) 400 litters/minute
1000 eSlLfr/BIblL b 400 &Sl LiT/BIolL b

59. A piece of cord or light line tied across a hook to prevent the object sacred to the
hook from un hooking 1s?
gan® slllep vwau@ss @ Gurmener QaErsdluilad(rbg seflprved s HeughHE

QLW eTéme 7

(A) Worming Mousing

eumTLOIm ey &k
(C) Stopping (D) Whipping
eom P W L)

60. The WAFFLE type reinforced concrete floor is also called as?
Walffle cuana cugyiit@gdlu SQwen swaveuuliar wHGpmm Quwii ereren?

(A) Plank (B) Cantilevers
Derrnrbids Caatrgedleurr

(C) Cladding \_(.B')’ Honey comb floor
& Gerig 6 aneflGamibls LiGaTm
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6l.

62.

63.

64.

65.

In institutional purpose group buildings all floors should be constructed as?
fneuearsdlnsrs sl LOUL sl dsafler gahser ereleumm) &SU_Le&&ILLIg (HéE
Ceuam(hild 2

(B) Compartment grills
SbUmm’_Querr Sfeaar

Compartment floor
SUMTC_ G e’ Sermmhi&eT
(©)

(D) Compartment shape

SUMTL_C W6’ agrL

Compartment tunnel
&HUTTL.GWeT Lared

When hydrogen and chlorine combine together what will happen?
eanL rge wHmb GGarrfler geamdlaaryb Curg erarer Ceaudlallevar eriu@ib ?

(A) (B)

(D)

Burn vigorous
sihenwns aflybd

Burn rapidly
Gauswrs erflyyd

Release toxic vapour

Burn Explosively
BEsL s CeuaflGuiHmib

erfilbg Cleug&@&Hn

For manufacturing of self extinguishing plastic

FULOTE Sl Siemermsgls Gamanepd Qerrevy e suTfliLgHE 2 sayb Qunme?

(A) (B) Iodine compounds are used
S GWwmg.en Femel

Fluorine compounds are used
s Germfler seweneuser

© Bromine compounds are used

Chlorine compounds are used
HGrmllen seeneuser

&Gerrilen sevaney

At what temperature white phosphorus will ignite in air?
aThs siera Weuliufleveouller GeueTanar LimevLITen &THIE erfluyb?

(A) m0° Celsius

20° Celsius

20° GaFodwan

40° Celsius
40° Qaeédwen

(€

30° GlFadlwen

(D) 50° Celsius
50° Qaodwen

The following statement is “The volume of a gas is inversely proportional to the
pressure upon it provided the temperature is constant”

“wror Qeudufleauld, em @GOGl Bapuamw aunyelea SiWssw eieurueiern
LBEIESs adissseiler Senwyb EEs sapdler QU ereme?

W Boyles law
pm@edein e84
{(C) Rule of thirds

gperdled e Uk 98

19

(B) Charlie’s law

snree elid

The law of pressures
2N(psssdlen ol

D)

029/DD/24
[Turn over



66.

67.

68.

69.

70.

Carbon dioxide sublimes at?
grifue-eL ysmev ahg Hlawuld FleiGoayans ssliuBSng ?

(A) Volume of pressure thospheric pressure
(PSS et FaT eTE auafleir_a oi(pssb
(C) 0° Celsius (D) -10° Celsius
0° Qewdlwey —10° Qaeofwie

Chlorine 1s8?
&Garmile ererLg

(A) Ligher than air \V Heavier than air
sThenm el Eax@Geurang &rpenDd el &L rang
(C) Smoother than air (D) Ambient than air
sThenm el Cierenouwlmeng &SHoUUD srHepeil @ev @6 rang

The identification of fire door’s tested for integrity of 30 minutes is
30 Al gdhg Basmod Sow shiEEh sgellar @GRuif

(A) FIDO-30 (B) F, Door—30m
g’ FD30 (D) FID30

Doors and shutters are principle type’s

SSH6&HET DHMID &L L 6T shgIeuGmgE GaTeaT e
(A) Three @/ Seven
(C) Eight (D) Six

The fire resistance of concrete column depends on
arandlil. gremtlen § sHi&GL sarenw sMiHH(HLILIG

(A) The applied load (B) The type and strength of the concrete
LweTU(RSSID FenLd srendlffiq e auens wHmD 2 mid

(C) Its resistance to collpase @/ All of the above
sfleughaErear gen il Gemenn Cupasa. enangg) b
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71.

72.

V3.

74.

A fire fighting lift should serve usely story above ground, including the ground floor,
1n a building with a floor above

Geupdler ehs 2 wrsdng Cuod &l msdm @pé@b Gurg SuemarniCurt grés
vwetu (s Geuar@Bib ?

(A) 15m Above ground (B) 30m Above ground
sl (mbg 15 S 2 wipb genTuiedl(mhg 30 B 2 wiph
20m Above ground (D) 35m Above ground
seoquledmpbg 20 18 2 wipb sanguiledl(mg 35 5 2 wib

When hose 1s being laid direct from a hose laying lorry the vehicle should be driven
at steady km/h?
Quasiupw  Gesd prelG@omu ocarduid @@mps  Corgwns  BiredHiEpm

Curiiu@pib Gung saiduinearg

(A) 15 to 20 (B) 15 to 22
& 15t0 25 (D) 20 to 30

The first pump in a water relay taking its water direct from the source is culled?
2A@gsED v Gamii fr Qepuide Crmquirs BrAsrigulieo @miEg B aREGn e
Gpru?

(A) Booster pump Base pump
LLGULT LIDL] Guev LbLl

(C) Centrifugal pump (D) Main pump
enweilevdE, LI (PpSETenD LibL

Full form of LWP?

LWP & efifleurgsib
\W/ Light Weight Portable Pump

Gevamem eranLu|eTem 6T ([HEHHFQFTRMES g WI LIDLI
(B) Low Weight Portable Pump

G®DHS eTenLeTer THSHIFAFTODES I LILDLS
(C) Low Pressure Pump

&PPhS SHWPSSD CETeT LIbL
(D) Light Weight Pump Portable

Gevgram erapL )eTem 6T(HEHFQFDOEHIG W LILDLI

21 029/DD/24
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7.

76.

77.

78.

79.

The guide vanes attached to the of the casing can also reduce turbulence
e mpuier seutsafler Gurmssiu L ewweilwsE edams mal Ceauds@Eind Qarpseaflienu
GG

Inner walls (B) Outer walls
o 6T Hauirser Qeuefl seursar
(C) Both types (D) None of above
Eleneu @yearT(Hio Cupamdu ggbldemea

Centrifugal pumps maximum practical suction lift that can be achieved is about
meter.

ewwellens LibYer sFlsur s SCrHmID Hmer eremen 2
@ 9 @8
© 6 D) 10

Two stage and multi stage pumps develop working pressure only at speed in excess
of rpm?

gireh sdeg 2usHE Goe Hlenwsdr 2 der Liblsst ———— rpm CeussdlbeE Cod
Geuanar Qe S(WPEFasS 2 (HelT&Ebh?

(4) 3000 @ 1000

(C) 5000 D) 8000

Which type of the Hose Used in hut Fire?
Guyos § g uwaTuBHssLLD Brel® @Gwmiear QUi eree 2

(A) Synthetic Hose (B) Rubber Line Hose
Abglg b TLILIT
Canvas Hose (D) All of Above
Sggnar S| MESGILD

The Heat Transfer Takes Place in Solid by the way of
Qeuliub eThg cuanauledr HLOuGurplseld sLgstiubhdng

(A) Convection Monduction

GeutiLidgeved Qeuliu&sLSHev
(C) Reflection (D) Radiation
GeutiLnd Gydluedivy Qeuliu sdreliss
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80.

81.

82.

83.

84.

85.

What is the name of the Poisonous Gas found in Sevage?
s fleybféd sremiu@ib efageuryjeler GLiwi ererer?

@ HaS ® CH

(C) CO: (Dy CO

The Boiling Point of Water is
samentilen Cardlflevar eresan?

@A) 0°C G~ 100°C

€ -1°C (D) 4°C

The Weight of 1 Lit Water is
1 Sl gamentiler eTan

J( 1Kg (B) 1 Gallen

1 8&l 1 Caevenr
(C) 15Kg D) 0.75 Kg
1.5 84 0.75 &4

N.B.C. Stands for

N.B.C. crépned erenen 2

(A) National Broadcasting Company \V National Building Code of India
(C) National Business Company (D) National Building Corporation

What is the name of the Fire Extinguisher used in Petroleum Product storage place?
QuLGrrellwib Gelfliiy @sgde LwaruRGssiuBin Suemenmiiureler GuwiT ere ?

(A) A type @9/13 type

(C) Ctype (D) D type

Name of the Safety Devices used in BA Set
ppFassmetiutladr LweTuRSsOURLD LITGSTIL el 6Tgl ?

M Warning Visile, Pressure Gauge  (B) Vission glass, Pressure Gauge

argsflsens wenll, Bipssorent] LITTEnGU SHeimemly, <34 (LpddLomemn!
(C) Vission Class, Inner Mask (D) Inner Mask, Warning Visile
UIMTeney SERmenTiTly, 2 GT(Lp&(LpLy 2 GTAPEWPY. aT&FfEama enfl
23 029/DD/24
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A

86. Rope affected by chemicals should
@reruartisertd urdasliul L sullewn Ceustr(Hib

(A4)

(€

D)

Washed thoroughly in water

aentiled &(pen CeuetmHib
Should be withdrawn from service
vweTum iy 60 @)(mbg edlessli._ GeuemHib
Should be covered in a water proof bag
Bians epLudied epL Ll g (més CeuatHib

Sent to rope testing
sulim GETsamans@ gy liLge

87. What is the working pressure of hydraulic spreader?
emamt gredld ekl fer Gouaned Bi(WSSD eTesan ?

W’ 720 Bar (B) 700 Bar
720 UmT 700 UmT
(C) 746 Bar (D) 725 Bar
746 Unmm 725 UMy

88. What is the mechanical advantage of ‘Tackle'?
‘CLadler @er @ubSlr Semento erebren ?

(B)
(©)

)

029/DD/24

It requires only 50kg force to raise 100kg
100 dGarenes 2 wirds 50 HGam #464 wL[Hib Cgeneu

It requires only 25kg force to raise 100kg
100 dlCaremey 2 wiss 25 HCar #56 LLHL Cgene

It requires only 75 kg force to raise 100 kg
100 fiCarene 2 wTss 75 HGor g4 Wb Coameu

It requires only 40 kg force to raise 40 kg
100 flCarenal 2. wrss 40 HCwr #6d) WL O Caameu
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89. If Potassium React with Water
QuriLrflubd sament(mLe ellaear yflpgmea

(A) Very little Reaction
Nas@Ganpeurar erd el anar
(B) Inactive with Water
chrest(mLat QFwLwbng
Flammable Hydrogen Gas Released
erfiwsanigwl epanl remer eury Geuafudl Ll g

(D) Burning metal decompose water
aflyb 2 Garsb Fhd Hasfipg

90. What is the Flash Point for Propane?
HErmuGueler @anmhsul g erflub senans ?

@) 100°C B 104°C

(©) 50°C (D) 40°C

91. The Hydrant valve should be closed slowly because?
epamL rar’ eurdeney Gngiauns apL Ceuamhib ellerafled

To prevent water hammer (B) To expel the air
. B &sfwc alenerey sH&ES srhenm GeuaflGuhm
(C} To reduce pressure (D) To prevent leakage
SPSBEDF GDDES sélencus s{H&S

92. Buildings with a floor at more than 60m above ground level should be equipped with
seogwl L sHSlphg 60 BLL(mE@ Cuwd 26er gearb Camam, &gl hiseld ——
o L& QUTBSSIUL g (hEs Ceueim(Hd
(A)  Dry rising fire mains
2 o 2w § GQouleaer
(B) Dry fire mains
2 i & Qwulenaser
.‘9/ Should be equipped with wet rising fire mains
rywrer 2w § Clwuflerser

(D) Dry rising mains
o @ 2w Guuieraser
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93.  Every Fire fighting stairway and fire fighting lift should be approached through a?
geaillenr § s@ans@h UgssLH LODD § mansEh Wagsd Gsdar aflurs
<lgmis Geuar(Bib 2

Fire fighting lobby (B) Fire fighting Router

§ emams@ wrd & el Harsel
(C) Terrace of Building (D) Balcones of last floor

&Ly e Guwmien . wmg s F sergdlen Limeaaf

94. What 1s the pressure of stored pressure fire Extinguisher?
CaflEsliu L Sipssb o ater Sanil SenamsiEGid HHeNNe SPSSD eranan ?

& 10bar (B) 15 bar

10 umm 15 Unm
(C) 20Dbar (D) 22bar
20 umm 22 U

95. What is Fire cycle?
& s1pné erenmmed ereien ?
\M The water would be automatically turned off when the fire had been

extinguished
§ semenssliLL L gD gavartt grannsCeu Semamsasu@ib

(B) Fire will reignite after putout
§ s@amssiul L ne Banhin erflyb

(C) Fire spread one area to another continuously
§ Uaribg @@ LWL Gobg wHADPTE LEHEE Lradng

(D)  Fire occur in zigzag manner
s g wapulied § 19Ng.8@D
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96.

97.

98.

99.

Reciprocating pump is
QuALGrTGat_g ikl LD ereLg)

(A) A special type of centrifugal pump in which the water flows a spiral path
around the edge of the impeller
B0 Spuy wes ewvwdess Gwrd @da Bi gramgulear elafibau sl spe
unengsulidr Lmidpg|

(B) A centrifugal pump with one impeller
R sramhige Csrarr . em e alledE bl

(C) A centrifugal pump with more than two impeller
@redry b GCuopul L gram(Hisasener Qaream . e allade@ Lbl
A pump in which water is moved by the action of a piston or plunger in a
cylinder
@ Adlar_far YevLer bz o Hsmalier Qewduriger epeon  semeri
B&T550ULRID

Fire Resistance door should be min resistance of fire in minutes
§ s ssey assmen ML 0Ts @HEs Ceudm(Hib?

(A) 10 mins (B) 15 mins
20 mins (D) 30 mins
In stopping complex buildings floors in any shop in it exceeding m? in
area should be constructed as compartment floors
aefls sl gl msefler ———— 87 &8 fsworgb Gung (compartment floors)

Bmieutiu. Geuer(pitb

M 2000 m? (B) 2500 m?

(C) 1500 m? (D) 2050 m?

Building with floor more than m above the ground level should be

provided with fire fighting shaft
sl LG Coed § smansgbd gsar@ B God soryLedr sgqu slgl Fdd
aupsiuL CeusmHiwb

W 20m (B) 12m

(C) 10m D) 15m
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100. Formula for working duration of BA set
apsssEmell Gaima Leliugharear @Gad b

G =2 ® D=L£*C j9
Nx40 Nx40

© D=L _1 > p=2L*C 4
N +40 . N +40
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